BF 100m E1L—XQCIHEE A4 LL—R)

(1#8) (  -3.6 m)
10 5] 1887 J& B3 (K H K [F) 11.36
2[ 41153285 KR ik K6 (B g = oK) 11. 41
3[ 6]4090°F B )2 (32 # K ) 11.81
Al 8] 7055 H Ik #f 3 (AR M) 11,92
50 7] 309%% & 4£ IK 3 (PR MEHEH) 11.92
6[ 214062k i 1~ &3 (32 # K ) 11.98
[ 1J4411 7 H ¥ 8 3 (mIR R R) Rig
[ 3]4469/h 0 & %4 (— & KRR
(3% (4.7 m)
10 134T0 KR IE IRk (B £ R 1) 12.40
2[ 61484574 M & Jr 2 Ci JE # £)12.40
3[ 4] 14K & #h X3 FriR/hTFHEH)12.52
A[ 51120540 K\ u& A 3 CHr J — H1)12.68
S5C 211217 [ — o 2 Cor . — 1) 12.83
6[ 3] 2474 & 2 (FriRZERH)13.07
[ 7] 5608k #F & pk 2 (& L ABET) X5
[ 8]3b41 JiE A3 (B L A& RiE
(5#] (  -4.8 m)
10 8] 375/hBpEEr K3 (] 8 = H)12.93
2[ 2157221 v i #E 1 GHE H &) 12.93
3L 71 1910 H 4 52 2 CAfH EREIR) 12. 96
40 4] 72281 & # 22 (I G =) 13.03
5[ 1157194 A& & 21 Gl M &) 13. 41
6 3112264k 763 (B . — 1)13.45
T 6]5T2R EWLEAN 2 (il H =) 13.46
8[ 5]b71458 7k I th2 G MW &)13.55

[748] ( 4.7 m)
10 71243635 F B % 3 (8 £ & ®)12.65
2[ 51125275 e 3 2 (T v7 47 A ) 12. 81
3[ 2] 3681 A il A2 R & = F)12.97
A[ 8] 106k A 2= #k 3 (A1) 13.07
5[ 4] 326" A HE K2 GRLWEHEF)13.11
6 3] 323fk x ARUTAr 2 QR WEFEF)13.19
T 1]12240=  jE Y63 G FE — ¥1)13.49
[ 6] 428 K} A ¥E2 Gt FE U ) KI5
[9#8]) ( -3.8 m)
106]15108% MW %2 (85 f £ K)12.85
2[ 4] 37488 I 2 (R & = H)12.96
3[ 1] 8128 34 J& 3 (= 7% | #1)13.00
41 2] 503%; & 223 (GBr M L H1)13.13
5[ 8]3262v8 1 Mt &2 (& £ (2 1#$)13.98
6 7] 24811 N FI K2 CGor 2 — H1)15.29
[ 3] 285#4% A 2 w3 (NZEFRk ) Ri5
[ 5] 1294 Fr £ A2 (R —F v X)) RI5;

[2#8) (  -3.7 m)

1[0 4] 626/~ )1l H 173 G JE N H1)12.16
20 8] 113= #F BE 3 (FryUh ) 12. 26
3L 7] 3128k L E# 3 GEAWERET)12.29
A7 6] 375K % Z=23 (P& b & H)12.35
5[ 3]11661%Z2 & ¢ N (Palette)l2.36
6[ 5] 478f%= jik 2 3 (£ B H)12.39
70 2112120 W Fn A3 Cor JE — #1)12. 41
8[ 1] 223= H {F i 3 (Frik L) 12.57

(4% (  -3.4 m)
1[0 41408255 B Pt K2 (3L # K )12, 11
20 1157012 7 & 52 Gl H &)12.44
3[ 2] 305M tr HUARR 3 (R 4% W #E)12.52
4[ 3135034 Jf A2 (B & R &) 12. 61
5[ 6] 358ifEBk T3 (F] &R = #)12.62
60 8] 4548 A A K52 (FriRiaks ) 12. 64
T0 7] 807fk i 22 %3 (= J7 | 1)12.90
[ 512433 LW i3 (B 4 & W) Ri5

[6%H] ( 5.1 m)
1[ 6] 805K Bk &= k2 (= 75 3 H)12.59
20 4] 160H H £ K2 (#] 878 — #)12.70
3[ 5] 5051l &% JE 3 CHT EE A H1)12.99
41 2]30837% R 0w (& E [ #)13.07
5[ 8] 6271 4 K& 3 CGir JE X H)13.24
60 7] 369 (L K 223 (B (b & +H)13.50
[ 1] M3 AR BE K2 Gy JE U ) Ri5
[ 3]19025F ¥ zE A 2 (X BMAY) KI5

[8#8] ( 4.8 m)
1[ 4]57047L B+ w2 G W =)12.70
2[ 5] N L& 522 (f RE 78 ) 12.78
3[ 7] 22312 KIS 3 (B 2 — +1)12.80
4[ 2] 267F M #F =2 (B 88 — *)12.86
50 3] 810JII #F A3 (= % & 1)12.98
6 6148387 0 FI K1 Cor FE # £)13.22
TL 1I5721K &F # 221 Gl M &)13.32
[ 8] 235 A I th 2 (FTiREJR ) Ki5
[1048]) ( -4.3 m)
10 8] 207%F O A #F 3 (AMIEER )12, T
20 315710k JIl B2 w2 G W &)12.91
3[ 5] 5184 =h B2 & M T 1) 13.06
41 71 1271 ~ K BE 2 CNFE 16 R H) 13. 28
5[ 2] 721 M BE A 2 ONFE 1 5 o) 13, 41
6 6] 73300 A A K 2 AR ) JE H) 13, 41
70 4] 801 4% 5 K1 (= 7% # +)13.59
8[ 11 2918k & %2 UNZE ¥Rk $)13.78



[11#8) (  -4.9 m)
10 4] 2850 J5 #1 K2 (& & (1 H)12.89
2[ 8] 1587 % i K2 (B 5 — )13.02
3[ 1] 3N A 1 G JE = 1) 13. 31
A1 3]5TI3H L #8 &2 GHE H &) 13.44
5[ 7] 21% MW P11 (5 U4&hd)13. 64
6[ 6] 3213 M & 2 QRA W) 13.65
70 51 1034 JIl % 12 (FivhFHE9)13. 86
8[ 2] 6107 AF 48 ¥R 1 Cor FE /< #1)13.99
[1348) (  -4.1 m)
10 3] 338H A 7EH 1 (EAIEHET)13.23
2[ 7110852 M En4A 1 (B8 » B )13.33
[ 1] 254p Fd 2% 32 (R B2 — +1)13.38
41 2] 103= ¥ I #E 2 (8 + RHH)13.43
5[ 4] 1050 j# 5 B 2 (& £ A& 9)13.72
[ 5] 13285 A B W2 G JE  H)RSG
[ 6] 2864k 2 16 & 2 ONZH Rk ) Ri5
[ 8] 375 HJIKERE 2 (5 & i H)R5H
[1548]) ( -39 m)
10 8] 140% i HE Ik 1 (FryUhF4EH) 13. 02
2[ 5] 470 FE ARk 2 (R &5 W H1)13.29
3[ 4119034 M fH B2 2 (X REMAH)13.30
4[ 2] 3357 jE 22 GRAIEHE)13.43
5[ 3] 863 ik Fu = 2 (K FH W 1) 14. 11
6[ 6] 2442254 FEME 1 GO 2 — ") 14.66
[ 1] 8080t jiE Kk 21 (= % H T)RB
[ 7] 344=Hm A JE 1 RO WERET) R
[1748) (  -4.6 m)
10 2] 514 94 .0 #6 CGor JFE P2 1) 13. 49
2[ 3] 2069 M 2 A2 G B — H1)13.83
3[ 7] 188fk » Ay 2 (NFE L EIR)13. 84
40 4] 8E A E W1 GE A  F1)13.91
5[ 11 104747 1 45 9r6 Gor FE Fe 1) 14.07
6[ 8] 736@ A F1 (AR M EF)14.30
70 5] 22035 % %1 CGor /2 — 1) 14.38
[ 6]30244: 1 7% — (B £ b& W) R5

(1948] ¢ -49 m)
10 6] 34TARZ il K1 (RAWEHET)13.86
2041 92 b 5n ‘F2 (F W H)13.96
3L 2] 2427k W K 2 2 (AR E#ERT)14.14
4081 1T W & 51 G 2 1)14.22
EAUS

5[ 5] 806111 IFf 12 &1 (= 7 ®H H1)14.43
6 7712519 M & BB 1 (BH 88 — +)14.59
70 3] 8/ 4k W1 & 6 Cor FE [ 1) 15.50

[ 1] 87211 M 3 &k 1 (K H #H ) RG

[1248] ( -4.4 m)

10 1]
21 2]
3[ 4]
41 3]
5[ 7]
6 8]
7[ 6]
8[ 5]

134% i K P& 1 CARE A5t H) 12,91
4800 jiE A K 2 (BT iRial B ) 13. 04
435 A K2 (5 #E JE H41)13.22
1164E & Dt Wi 2 (8 - R &H)13.37
11815 Jt < A 3 (FriRvhF45191) 13. 40
3327 M A E 2 (TR A3 7 ) 13. 61

T2 K2 (7 W 1)13.62
8657 ji& IE K2 Ok JF 3R 1)13.63

(14#8] (  -3.6 m)

1[ 6]
2[ 5]

3[ 4]15707wi7 M >k A 2 (i

4[ 7]
50 1]
6[ 3]
10 2]
8[ 8]

20485 I & ME 2 (TAVT 47 2%)13.02

13 35 & W5 1 (FAVT 47 2%)13. 04
H  &)13.24
345 H KB 1 (RS W FEH) 13. 36
168K #F & M2 (8 & — #)13.40
802K HF B & 1 (= % H H#1)13.52
i B I&E A2 (B » & H)13.54
4785 M BE2 G5 A H)13.63

[1648]) ( -3.1 m)

1[0 5]
2[ 2]

363)11 M+ fik 2 (Frik Lilind)13.55
8% B Mt 2 (F M )13.58

[ 3J12314 M f =1 Cor & — 1)13.84

41 8]
5[ 1]
6 4]
10 7]

[ 6]

16831 111 #7982 (FriRA k5 ) 13. 92
5707 Hi Ay 2 (WL AMHT)13.94
12855 H 9B 5 2 O R ) 14.10
413k # = A2 G5 A 1413
4538k HE 1 (BT iR b5 ) Rig

(1848 (  -5.0 m)

1[0 1]
2[ 8]
3[ 4]
41 7]
5[ 5]
5[ 2]
10 6]
8[ 3]

2387F I 4h M 2 (AR 1) 13,14
1458% & Al 1 (FriRvhF4EH) 1377

49175 FEAE KR 2 (B iR 1A 55 ) 13. 85
319% ®E L2 (9] R = 11)13.99

139= #F I= v 1 CAR A1) 14. 42

231= MW fn1 (FriREJE$)14.42
61377 5 # Ik 1 CGfr JE X ) 14.50

13ME 3= 7% B 1 (AN R ) 14, 61

(2048] ¢ -5.0 m)

1[ 4]
2[ 8]
3[ 5]
41 2]
5[ 6]
6[ 3]
10 7]
[ 1]

322n AL KRBT L B FE = 1) 14.20
4763 /1 B A 2 (B iR 1A B ) 14. 23
4185 % — A2 (FriRkm ks ) 14. 38
1854 7€ K FH 2 (ATH L kiR) 14. 43
1078 2 k2 (F W )14.45
130k@ 1 ®% 52 Gor & t)14.55
M8 E F K2 Cir & U 1) 14.58
183 1 5 £ B 2 (A L) Rig



[21#8]) ( -3.2 m)

1[0 6] 589 #& 1 (F-ABHET)13.51
20 3] IOy i & i 2 (T AVT 47 21)13. 56
3L 2] 6144~ 2 | 70 1 Cor M N $1)13.83
41 5]2707/)n & & K 2 CorFEMI#E =) 14. 02
58] M2 M M1 Cor JE H1)14.22
60 7] 58017 4% @] B 1 (& - RsET)14.23
T0 4] 41Tk & 2 G5 A +)14.89
81 11 232k W R >t 1 (Fri £ )5 1) 15. 89

(23#8] (  -2.6 m)
10 4] 6113t 27 I 95 1 Cor B2 X H)14.17
20 2] 3420 Y EE Ay 1 (TR A Wk A ) 14. 38
3[ 8] 415 H 7 th 2 Cir FE U H1)14. 51
40 3] 6019 (i 412 Cir % N ) 14. 51
5L 7] 3114k BR  fE2 (BINAEZE ) 14.59
60 1] 405 & K51 (F M )14.83
T0 5] 2373 M 48 521 (ATiR &5 1) 16. 35
[ 6] B & e B 1 (BR BE W0 ) Ri5

|
[2548] ( -3.9 m)

10 3] 1987 ¥ i A1 (1 &8 — H)14.17
2[ 2] 246~ T & £ 1 CAR AR H)14.38
3[ 5] AOH F B (B BB ¥ ) 14.49
A[ 1] 361FRMFE 2/ 1 B 82 = H1)14.69
50 8] 346 8 i — 1 (EAWEHET)14.82
6L 4] 20 H F A2 (GE K H)14.88
70 6] 108/ #k B8 K2 (B £RHAH)14.94
8[ 7] 252F ¥ % Ay 1 CARH RN H)15.16

(27#8] (  -3.6
10 1] 1114 (L {E
2[ 5] 87345 H B
3[ 2] 196v& 4 {E
40 6] 38HH H 7

=

(AR BRI 14.14
(K 3 H)14.58
(AP ERRIR)14. 84
7 H H)15.12
50 7] 735+ + & 4A (AW s H) 15, 14
6[4] 15 M E 207 H H)15.24
70 3] 358W5 i #h 251 (5 8 = 1)15.40
8[ 8] 153 Jw ¥ 1 (8 & — ) 15.41

[29%8] ¢ -3.0 m)

10 8] 367w i KA 1 (Frik kilad)14.19
20 4] 9403 & — A1 (5 # il 11)14.46
3[ 5] 2814 H 1 K1 (& & (b 41)14.66
40 7] 1487 BERM 1 (B LR EH)14.73
5[ 6] 612/ f B& {6 1 Cfr FE X 1) 14.96
6[ 2] 3188 A —.»1 G £ = )15.00
70 3] 340k W 21 (R WEHE$)15.01

W

(22%8)] (  -2.1 m)

1[0 2]

2[ 8]1261K

3[ 1]
41 7]
5[ 4]
6 3]
11 6]

[ 5]

4327 M R 2 CGor FE U ) 14.34
TR R BR T 1)14.49
K107 H H)14.65
it 1 (] 82— 1) 14.66
PN H ) 14,67
Ui B 6 Cor JE B 1$)16. 58
1
I

@WH

Fs
48w A
2583 1
50f% %

2t AR
2331 k=
198 I

Air 1 (AR £ ) 17. 31
fis 1 (5 U ] o) Ri5

(24%8] (5.6 m)
10 7]19233 & 5 1 (S R HAT)14.49

2[ 6]
3[ 8]
4 2]
50 1]
[ 3]
[ 4]
[ 5]

245 R HE KT 1 CBr 8 — 1) 15.58
2308 A1 K1 CFr B2 — H1)15. 61
23874 B FE AR L Cor E ) 16.17
7401l | W B 1 CAR] ) R H) 16. 34

N RRR 1T (B B P ) Ri5
862 7k g ik 2 Ok 3 ) Rif
15 B B a2 OF W H)RG

[26%8]) ( -3.5 m)

10 6]

256101 7 % F 1 CNTA R ) 13, 71

2[ 3]1465& M & ¥ 1 (HF R )14.44

3[ 5]
41 7]
5[ 8]
6[ 1]
[ 2]
[ 4]

709/ A HE A1 (FAVT 47 2H)15.10
515/ HEEAAERE 1 (B A8 v 1) 15. 40
25544 Il B F5 1 (AR BRI H) 15,72
3= gy N1 (OF W +)15.83
4607k # B K1 (FriRmEGH) X5
10°F 2 K B 1 (5 U4 I i) Ri5

(28%8] (  -1.9 m)

10 2]10038k &

2[ 4]
3[ 3]
41 6]
5[ 7]
6 8]

[ 5]

fH1 GE KR H)14.62
28277 JIl K A1 (& & 1l 1) 14.70
MI% N U A2 G & U ) 14. 87
1105 ¥ JR1 CGor JFE  H1)15.09
51885 K BH 21 (B A ¥ 1) 15. 21
SNE I &2 @ & = H1)15.33
2558 k RG22 (1 B = T)RIG

i ?@

(30#8] (  -2.5 m)

1[ 4]
2[ 3]
3[ 5]
41 7]
5[ 6]
6[ 1]

[ 2]

[ 8]

5122 % = & 1 (f #E 78 ') 14. 58
4241 + gl 2 Cor 2 19 ) 14. 96
3415 Ml K 1 (PRAR I FE ) 15. 00
492/ & B 5’%1 (AT IR B ) 15. 04
4250 Ry 2 Cor DU ) 15.18
435 iR f L1 Cor % U H1)15.57
1305 W OFE &1 G B H) RS
20l B 5 A1 (5 Cral ) Ri5

>_tt‘ﬂ1}f~n



(31#) ¢ -3.3 m)

10 1] N5EME—ER 1 (AR E#ER)14.
2[ 41 18K JB — 1 (ONR) bR 14,
3L 2] 1121k B & ¥ 6 Cor & (2 #)15.
47 7] 490 5 #h K 2 (AT iR B ) 15.
50 6] 1594 ¥ K &1 (5§ & — #)15.
6[ 8] 7267 B #H 222 (A a5 1) 15.
4365 (L z@ﬁ XK1= H )15
8[ 5] 100# A Ak 2 (& £ A& H)15.

70 3]

(33#] (  -43 m)

108] 2378 A K2 (ARHEERRH)16.

19
19
08
40
43
57
17
95

29

(3248] (

1[ 5]
21 1]
3[ 8]
41 2]
5[ 7]
6 4]
70 3]

[ 6]

(34#8] (

1[ 1]

-3.6 m)

14075 & 85 & 1 (8§ L R.H)15.23
433% M B 2 CGfr Y H)15. 34
801Hh R 5 E 6 Cor J# k2 1) 15. 69
1279 & 2 16 (R — % » X)15. 74
18R i B 725 Cfr i e ) 15. 88
229%F By fB W1 CGBr M H)15.94
21275 K B K6 CGor J# k2 ) 15. 96
93487 1 & 3} 1 (5 % i )RS
—3 3 m)

587w & 3} 1 (W L FLMs#ET) 14. 98

20 4112775 i < #% 1 (8 88 — 1)15.55
3[ 2] 18585 K 2= K1 (%) 8 — H)15.97
40 3] 23t [ F2 G5 K H)16.03
505] 42~ ¥ 1 (7 B H)16.10
6[ 7] 3233 K sz K1 Cor JE = H)16.15
10 1] 128)11 37 & A6 (R —F v X)16.20
8L 6] 1174 & & F 1 (A BRI 16. 34

[3548] ( -4.5 m)

104] 9378 # & 161 (5 # J7 +#)15.58

2[ 5] 1247 )1l # Z2/M(R — % v X)16. 51

3[ 6] 104K J B8 #2 (F+ A& +)16.90

40 2] 3& W E B2 GE A H)17.10

5[ 8] 156K ®F BE1 (R & — ™1)17.85
[ 1] 125% B3 BG A /s (R — &% v X)) Rz
[ 31146777 W W &1 G5 R HHRIG
[ 71146200 % #& =1 G5 R )RS

(3748 (  -0.7 m)

106112748 1 #9 K1 (1 & — #1)17.73

2[ 411469%% g — 1 (F R/ +)18.08

3[ 5] 1315 W IE Jr 2 CGor HE e 1) 18. 54

41 3] 122)1] 5% ﬁz/\S(R ¥ v X)18. 88

50 7] 7274 & £ K2 Gor E ke 1#)19. 21
[ 8] 145/ If #E ¥ 1 (& £ R A7) Ri5

FT2L—X (248)

[14#8] ( -4.2 m)

10 3] 18874 J& BX3 (K H K [E)11.47

2[ 6] 3098% &5 H# K3 RAWE#HET)11.96

3[ 4] T05E H Ik # 3 (AN mEF)11.96

41 5] 626/~ JIl B [A13 CGBr JFE 75 H1)12.09

50 7] 113= & BE . 3 (Fri/hF45)12. 28

6 1] 4784%& ik 2 =3 (E B 1)12.34

10 2112120 W Fn A8t 3 Gor e — th)12. 44
[ 8]1661% & FE N (Palette)RiF

20 21 115 5,
3[ 3]

2 (8 - R-H )15,

A M oK1 (7 B H)15.
47 4] 44087 W X 3C 1 Cor & 9 ) 16.
508] 171/ & & — 1 (B & — ) 16.
6[ 6] 41138 B 52 16 4 G FE B ) 16.

80
93
23
49
99

[ 6] 275k fik ¥ H 2 Gl &2 — )R
[ 7] 426%a J7 3 & 2 Gy 2 WU o) Ri5

[3648]) ( -3.6 m)

1[ 3] 246/ RBFAEAE 1 GFF B2 — ) 16.
2[ 2] 5294 & k5 CHr & [ 1) 16.
3[ 4] 123 F7IWT ) (R — F » ) 16.
i 4 G JA2 [i2 ) 17.
50 7] 43478 gk w K1 Cir B U 1) 18.
60 5]1270%] & JIl & 1 (8] &8 — +#)18.
7[ 811008%8 H F& & 4 CGor JE K*E %) 18.

4[ 6] 807TH H i &

(2#8] (
1[0 4115328 K # K6 (B
2[ 614090 % H2 (8
(
&

-2.4 m)

3[ 5]4062K & {~ &3
4 314082%% %5 bt i( 2
5[ 8) 312f it =E#h 3 (T
6 2]3417)\ K IE ik (&
10 7] 315k B =223 (fk
[ 11484574 W [& Jr 2 Cor FE #&

)11.

37
61
18
87
03
16
95



I AN
e

11563285 A 3k K6 (B i = K)11.30 -2.4
2 1887 JH %[3(j(ﬁj(|a) 1.47 -4.2
3 4090 - By 2 (57 # K 5)11.61 -2.4
44062j({$f# 3 (GL #H K 5)11.79 -2.4
54082?%‘%’0’51(2(4%(?(?)11.89 -2.4
6 309 B K Ik 3 (RAWEMET)11.96 -4.2

T 705 = JF Ik A 3 ONRRJA I ) 11,
8 J128RJE Eth 3 (RAWERET)12.

96
08

4.2
2.4

BF 200m E1L—XGHERA A LL—X)

[1#8] ( -3.4 m)

1[ 3140743 )il #£ N 3 (3 # K 5%)22.01

2[ 2] 4574 &5 == 3 (B B #)23.43

3[ 6] 35944 ¥ B3 (F 88 = #)23.70

AL 7] 3% R O3 (7 H H)23.92

5[ 8] JIASSEIRER 3 (BR 68 75 H)24. 54
[ 4] P 5 3 —  (EVOLUTION T.C) Ri5%
[ 514471 JF i &k 3 (B IR %K) Ri5

[3#8]) ( -1.9 m)

10 2] 115/~ (L & 3 (AR ??543)24 21

2[ 3] 367= A [ A3 & & = #)24.77

3[ 512705k PN i th 2 Cor AN =) 25. 18

40 8] Tih K ¥ ®13 (E K H)25.82

50 7] 289K % ft 342 (& & (L H1)25.85
[ 4130083% MV 15 th (BF £ [ B Ri5
[ 6] 3137 i & X2 CGFF 2 = W) Ri5

[5#8] ( 4.6 m)

10 7] 2907 22 KBRS 2 Ohn 28 gk 1) 27. 15

2[ 3] 277= L& &ER 2 (B 82 — ) 27. 61

3[ 6] 26945 A v BE1 (B B — +)27.76

41 5] 119/ B 47 Ik 3 (FHR/NFHe) 27. 85

5[ 2] 3527 i # 2 (FrRLLn)29. 31
[ 8] 323 A sz K1 GFF FE = H) R
[ 4] NN EFREAN L G E = H) R

E2L—X(248)

[148) (  -4.9 m)

106] 3% JH #%3 (5 W )24, 45

20 71 JIAFSRUHR 3 (B fE 75 1) 24. 71

3[ 3] 205RE & 5 B3 CGor B — th)24.95

AL SII21THE i HESE 3 Gt J — 1) 25. 23

5[ 212705 PN i th 2 G 2 13 i) 25. 46

6[ 1] 409H 4 #8 /3 (g7 & DU 1) 25.52
[ 4] A60HE F f2 3b3 (B B ) KT
[ 5140743 JI| # A3 (57 % K %) RIS

(2#8] (  -4.4 m)
1[0 4] 1064, He i & 2 (FrivhF4517) 23. 99

6 6] A4¥d B

X

fiie (F B H)21.47
[ 7] 13285 K B

p'a

Gor B ) XRiG
[6#8] (  -5.1
10 8] 602k F
2[ 6] 428 ¥ K
3[ 5]1278% H Hii #& 1) 28. 80
41 4] 260 B %1 BH 8 1) 30. 67
5[ 7110067 A" 744v-1 1 (GE A H1)32. 41

[ 3] 866t #F ¥ 3} 2 (K H | o) Ri5

R
LT E S

1) 26. 82
H1)27. 25

2[ 7] 460kE F F2 =+ 3 (E H  H1)24.53
3[ 5] 4687 & 2 3 (Pl F H)24.72
AL V21T g FESFE 3 G JE — ) 24.78
503] 4098 4 # 43 Cor J& U )24.84
6 81195001 M % ## 3 (X A H)25.03
70 2] 7071 E % A3 CNf# 1 R #)25. 35
8L 6] 729% B I 2= 1 (Il B4 &) 26. 52
(4481 ¢ -2.7 m)
1[ 3] 20588 & F5 & 3 (Br i — +1)23.98
2[ 5] 12935 ¥ w3 (FTVNFHEY) 24. 91
3L 4] 107 W & b 2 (FrivhFHH) 25. 44
A1 2]1233: #s 2 CGor | — H1)26.35
50 8] 217T& B K 222 (AR 1) 27. 34

73

Il 2

m)

57

S

2 G JEE
2 G JEE
1 (] &

W

il

(248] (  -4.4 m)

10 6] 457%h & =2 @3 (B H 1)23.92
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